TO BE PUBLISHED IN THE GAZETTE OF PAKISTAN EXTRA ORDINARY, PART-II

National Electric Power Regulatory Authority

NOTIFICATION



Islamabad, the 24 day of My, 2024

S.R.O. 787 (I)/2024.- Pursuant to Section 31(7) of the Regulation of Generation, Transmission and Distribution of Electric Power Act, 1997 and in accordance with paragraph 20(III)(c) of the Order of the Authority dated 8th June 2012 in respect of generation tariff for Narowal Energy Limited (formerly HUB Power Company Limited-Narowal) (hereinafter 'NEL"), notified vide S.R.O 624(I)/2013 dated May 31, 2013, NEPRA hereby notifies the following adjustments in the approved tariff of NEL:

Annex: NEPRA-CXXXI

Narowal Energy Limited (Formerly Hub Power Cempany Limited-Narowal) Schedule of Fuel Cost Part of Energy Charge

Adjustment on Account of Fuel Price Variation for Furnace Oil

Period	Reference Price Rs./M.Ton	Previous Price Rs./M.Ton	Revised Price Rs./M.Ton	Reference FCC June 8, 2012 Rs./kWh	Previous FCC Rs./kWh	Revised FCC Rs./kWh
August 2023	60,201.56	152,346.30	168,666.80*	11.2780	28.5401	31.5976

^{*}Revised price is calculated in accordance with the details of consumption provided as under:

Fuel Source	Quantity	Fuel Price	Total Amount
	(M. Ton)	(Rs./M. Ton)	(Rs.)
BE Energy (Parco) (01-06-2023)	1,245.131	139,248.000	173,382,001
BE Energy (Parco) (16-06-2023)	700.100	154,574.990	108,217,950
BE Energy (NRL) (21-06-2023)	644.742	159,090.210	102,572,140
BE Energy (PRL) (16-06-2023)	1,343.990	159,504.210	214,372,063
Pak-Arab Refinery Ltd (Parco) (23-06-2023)	1,284.130	150,400.000	193,133,152
Meydan (NRL) (16-06-2023)	99,210	159,090.210	15,783,340
BE Energy (PRL) (26-06-2023)	624.072	164,679.210	102,771,684
Pak-Arab Refinery Ltd (Parco) (01-07-2023)	2,084.100	159,650.000	332,726,565
BE Energy (Parco) (01-07-2023)	507.790	159,708.590	81.098,425
BE Energy (PRL) (05-07-2023)	2,772.710	168,186.390	466,332,085
BE Energy (NRL) (01-07-2023)	462.298	167,668.890	77, 512,99 3
BE Energy (PRL) (16-07-2023)	1,281.278	178,191.520	228,312,874
-	13,049.551	•	2,096,215,273
Total Weighted Average Revised Price (Rs./M.	•	160,635.05	
Adjusted for LHV-HHV		168,666.80	

⁻ Out of 13,051.951 M.Ton fuel consumed during the period of August 1, 2023 to August 31, 2023, 2.40 M.Ton was used for internal consumption. Accordingly, net consumption of 13,049.551 M.Ton has been considered in the FCC calculation.

- Based on the data declared by Narowal Energy Limited.

and the

Narowal Energy Limited (Formerly Hub Power Company Limited-Narowal) Schedule of Fuel Cost Part of Energy Charge

Adjustment on Account of Fuel Price Variation for Furnace Oil

Period	Reference Price	Previous Price	Revised Price	Reference FCC June 8, 2012	Previous FCC	Revised FCC
September 2023	60,201.56	168,666.80	210,465.39*	11.2780	31.5976	39.4280

*Revised price is calculated in accordance with the details of consumption provided as under:

Fuel Source	Quantity	Fuel Price	Total Amount
	(M. Ton)	(Rs./M.	(Rs.)
		Ton)	
BE Energy (PRL) (16-07-2023)	160.942	178,191.520	28,678,500
BE Energy (PRL) (01-08-2023)	965.792	194,590.000	187,933,465
BE Energy (Parco) (01-08-2023)	275.500	190,763.000	52,555,207
BE Energy (PRL) (08-08-2023)	3,315.680	198,730.000	658,925,086
BE Energy (PRL) (16-08-2023)	1,328.342	213,679.000	283,838,790
	6,046.256	-	1,211,931,048
Total Weighted Average Revised Price (Rs./M.Ton)			200,443.22
Adjusted for LHV-HHV Factor 1.05			210,465.39

- Out of 6,051.756 M.Ton fuel consumed during the period of September 1, 2023 to September 30, 2023, 5.50 M.Ton was used for internal consumption. Accordingly, net consumption of 6,046.256 M.Ton has been considered in the FCC calculation. (h)

- Based on the data declared by Narowal Energy Limited.

Annex: NEPRA-CXXXII

Narowal Energy Limited (Formerly Hub Power Company Limited-Narowal) Schedule of Fuel Cost Part of Energy Charge

Adjustment on Account of Fuel Price Variation for Furnace Oil

Period	Reference Price Rs./M.Ton	Previous Price Rs./M.Ton	Revised Price Rs./M.Ton	Reference FCC June 8, 2012 Rs./kWh	Previous FCC Rs./kWh	Revised FCC Rs./kWh
December 2023	60,201.56	210,465.39	218,421.59*	11.2780	39.4280	40.9185

*Revised price is calculated in accordance with the details of consumption provided as under:

Fuel Source	Quantity	Fuel Price	Total Amount
	(M. Ton)	(Rs./M.	(Rs.)
		Ton)	
BE Energy (PRL) (16-08-2023)	53.700	213,679.000	11,474,562
Meydan (PRL) (16-08-2023)	246.820	213,190.000	52,619,556
Pak-Arab Refinery Ltd (Parco) (16-08-2023)	1,111.795	206,599.640	229,696,447
	1,412.315		293,790,565
Total Weighted Average Revised Price (Rs./M.Ton)	208,020.57		
Adjusted for LHV-HHV Fac	218,421.59		

- Out of 1,482.315 M.Ton fuel consumed during the period of October 1, 2023 to December 31, 2023, 70.00 M.Ton was used for internal consumption. Accordingly, net consumption of 1,412.315 M.Ton has been considered in the FCC calculation.

- Based on the data declared by Narowal Energy Limited.

Annex: NEPRA-CXXXIII

Narowal Energy Limited

(Formerly Hub Power Company Limited-Narowal)

Schedule of Fuel Cost Part of Energy Charge

Adjustment on Account of Fuel Price Variation for Furnace Oil

Period	Reference Price Rs./M.Ton	Previous Price Rs./M.Ton	Revised Price Rs./M.Ton	Reference FCC June 8, 2012 Rs./kWh	Previous FCC Rs./kWh	Revised FCC Rs./kWh
January 2024	60,201.56	218,421.59	199,541.97*	11.2780	40.9185	37.3817

*Revised price is calculated in accordance with the details of consumption provided as under:

Fuel Source	Quantity	Fuel Price	Total Amount
1 401 (1011 112	(M. Ton)	(Rs./M. Ton)	(Rs.)
Pak-Arab Refinery Ltd (Parco) (16-08-2023)	825.905	206,599.640	170,631,676
Meydan (PRL) (16-08-2023)	540.760	213,190.000	115.284,624
BE Energy (Parco) (01-09-2023)	230.830	206,618.000	47,693,633
BE Energy (PRL) (01-09-2023)	3,253.922	214,140.000	696,794.857
Meydan (PRL) (01-09-2023)	339.810	213,190.000	72,444,094
Pak-Arab Refinery Ltd (Parco) (01-09-2023)	1,758.420	206,770.570	363,589,506
Pak-Arab Refinery Ltd (Parco) (16-09-2023)	1,029.460	201,603.340	207,542,574
BE Energy (PRL) (16-09-2023)	492.518	214,566.330	105.677,780
BE Energy (PRL) (16-12-2023)	1,960.330	158,491.400	310,695,446
BE Energy (Parco) (01-01-2024)	963.640	149,850.000	144,401,454
BE Energy (PRL) (01-01-2024)	2,169.994	158,179.500	343,248,566
	13,565.589		2,578,004,210
· ·			100 000 00

Total Weighted Average Revised Price (Rs./M.Ton)

190,039.98

Adjusted for LHV-HHV Factor 1.05

199,541.97

- Out of 13,579.689 M.Ton fuel consumed during the period of January 1 to 31, 2024, 14.10 M.Ton was used for internal consumption. Accordingly, net consumption of 13,565.589 M.Ton has been considered in the FCC calculation.

- Based on the data declared by Narowal Energy Limited.

Ų,

[Case No. NEPRA/TRF-92/HUBCO-2008]

(Engr. Mazhar Iqbal Ranjha)

Registrar



National Electric Power Regulatory Authority Islamic Republic of Pakistan

NEPRA Tower, G-5/1, Attaturk Avenue, Islamabad Phone: 9206500, Fax: 2600026 Website: www.nepra.org.pk, Email: info@nepra.org.pk

No. NEPRA/ADG (Tariff)/TRF-Notifications/ 7987

May 24, 2024

The Manager Printing Corporation of Pakistan Press (PCPP) Khayaban-e-Suharwardi, Islamabad

Subject:

Publication of Notification of Fuel Price Adjustments

Pursuant to amendment in Regulation of Generation, Transmission and Distribution of Electric Power Act, 1997 (NEPRA Act) through Regulation of Generation, Transmission and Distribution of Electric Power (Amendment) Act 2011 (Act No. XVIII of 2011), the National Electric Power Regulatory Authority has been mandated to make the adjustments in the approved tariff on account of any variation in the fuel charges and notify the same in the official Gazette.

- 2. In exercise of power conferred by second proviso of sub-section 7 of Section 31 of NEPRA Act, the Authority has made adjustments in the approved tariff of various Generation Companies and the same will be notified in the official Gazette.
- 3. Enclosed please find herewith 22 notifications, regarding fuel price adjustments in approved tariff of various Generation Companies, as detailed below, for immediate publication in the official Gazette of Pakistan.

Sr#	Company Name	Decision by the Authority (Description)
1.	Attock Gen Ltd.	FCA for the months of May - December 2023
2.	Atlas Power Ltd.	FCA for the months of Aug-Sep 2023, Dec. 2023 & January 2024
3.	Nishat Chunian Power Ltd.	FCA for the months of Aug-Sep 2023, Dec. 2023 & January 2024
4.	Nishat Power Ltd.	FCA for the months of Aug-Sep 2023, Dec. 2023 & January 2024
5.	Engro Powergen Qadirpur Limited	FGA for HSD w.c.f. 6th September, 2023
6.	Saif Power Ltd.	FCA for RLNG [Sep. 2023 & January 2024]
7.	Halmore Power Generation Company Ltd.	FCA for RLNG [August – September 2023]
8.	Liberty Power Tech Ltd.	FCA for the months of Aug-Sep 2023, Dec. 2023 & January 2024
9.	Narowal Energy Limited	FCA for the months of Aug-Sep 2023, Dec. 2023 & January 2024
	(Formerly HUBCO-Narowal)	
10.	Orient Power Company Limited	FCA for RLNG [Aug., Sep. & Dec. 2023 and Jan Feb. 2024]
11.	Sapphire Electric Co. Limited	FCA for RLNG [Aug., Sep. & Dec. 2023 and Jan. 2024]
12.	Northern Power Gen. Co. Ltd. – Nandipur Power Plant. [TRF-271]	FGA for RLNG [Aug. – Oct. 2023 & January 2024]
13.	Port Qasim Electric Power Company (Pvt.) Limited	Adjustment on Account of Coal Price Variation for the months of Aug. – October 2023 & December 2023
14.	Engro Powergen Thar (Pvt.) Ltd. [TRF-301]	Adjustment on Account of Coal Price Variation for period Aug Nov. 2023
15.	Northern Power Gen. Co. Ltd. [TRF-304]	Adjustment on Account of Price Variation for Furnace Oil for the months August 2023 and January 2024
16.	Huangeng Shandong Ruyi Energy (Private) Company Limited	Adjustment on Account of Coal Price Variation for the months of Aug. – Sept. 2023, Dec. 2023 and Jan. 2024

17.	China Power Hub Generation Company	Adjustment on Account of Coal Price Variation for the months
	Private Limited [TRF-342/CPHGCL]	of Aug. – Sep. 2023 & Nov. 2023
18.	Quaid-e-Azam Thermal Power (Pvt.) Limited	FCA for HSD w.e.f 15th June 2023 & 9th January 2024 & FCA for
	_	RLNG [July 2023 to February 2024]
19.	National Power Parks Management Company	FCA for RLNG (Combined Cycle)
	Private Limited (Haveli Bahadar Shah)	[August 2023 to February 2024]
20.	National Power Parks Management Company	FCA for HSD w.e.f 01s February 2024 & FCA for RLNG
	Private Limited (Balloki)	(Combined Cycle) [August 2023 to February 2024]
21.	Lucky Electric Power Company Limited	Adjustment on Account of Coal Price Variation for the months
}		[August 2023 to February 2024]
22.	Punjab Thermal Power (Prvate) Limited	FCA for HSD w.e.f 03rd July 2023, 10th November, 2023 & 26th
	, , ,	December 2023 & FCA for RLNG [August 2023 - December
		2023 & March 2024]

4. Please note that the notifications will be issued company-wise and also furnish thirty five (35) copies of the Notifications to this Office after publication.

Encl: 22 Notifications

(Engr. Mazhar Iqbal Ranjha) Registrar

Kegistrar MAW